Legrest Support Assembly

92 - (12', 14", 16" Wide Chairs)

Calf Pads are not included with support assembly. Please refer to "Front Riggings Index and Calf Pads"

category.




Legrest Support Assembly
92 - (12', 14", 16" Wide Chairs)

Calf Pads are not included with support assembly. Please refer to "Front Riggings Index and Calf Pads"

category.
ltem Quantity Per
Number | Note | Part Number |Description Package | Assembly
1 47352X003 Lock, Pad Plate, Legrest, Black 1 1
2 47352X004 Clamp, Black 1 1
3 F  |04526X006-NLA | NLA - Tube, Elevating Support, Chrome - Right 1 1
3 F |04526X007-NLA | NLA - Tube, Elevating Support, Chrome - Left 1 1
3 G |04526X002-NLA | NLA - Tube, Support, Legrest, Elevating, Chrome - 1 1
Right
3 G |04526X003-NLA | NLA - Tube, Support, Legrest, Elevating, Chrome - 1 1
Left
3 H |04526X004-NLA | NLA - Tube, Elevating Support, Chrome - Right 1 1
3 H  [04526X005-NLA | NLA - Tube, Elevating Support, Chrome - Left 1 1
4 AE 1046328-NLA | NLA - Kit, Ratchet 1 1
5 42326X001 Bar, Ratchet 1 1
6 A 1037126 Handle, Release 1 1
7 C 1040060 Tip, Plastic, Black 1 1
7 D 1006490 Tip, Plastic, Black 1 1
8 A 04528X002 Bracket, Release, Black 1 1
9 B,C 1040831 Ring, Snap 1 1
9 B,D |40187X000-NLA | NLA - Pin, Roll (1/8" x 9/16") 1 1
10 7930310-NLA | NLA - Washer, Nylon (5/16 x 11/16 x 1/16") 25 1
11 A 1037485 Spring, Release 1 1
12 A 1037125 Cam, Legrest 1 1
13 7930336-NLA | NLA - Nut, Acorn (5/16-24) 25 1
14 11919X000-NLA | NLA - Screw, Slotted Truss Head (3/8-16 x 1-1/2") 1 1
15 1031481-NLA | NLA - Legrest Support Tube Assembly, Adult, 1 1
Chrome - Right
15 1031482-NLA | NLA - Legrest Support Tube Assembly, Adult, 1 1
Chrome - Left
16 47330X003 Spacer (5/16 x 1/2 x 3/8") 1 1
17 11232X009 Bolt, Lug (5/16-24 x 1-3/8") 1 1
18 1027095 Plug Button, Black (7/8") 1 1
19 40363X000 Hex Nut (3/8"-16) 1 1
20 1107321 Nut, Low Cap (5/16"-24) 1 1
21 1022874 Bumper 1 1
22 1030979 Screw, Phillips Pan Head Tap (#10-32 x 3/4") 1 1
23 CF 1031485-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Right
23 C,F 1031486-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Left
23 D,G 1031487-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Right
23 D,G 1031488-NLA | NLA - Legrest Support Assembly, Adult, Silver Vein 1 1
- Left
23 H 1031483-NLA | NLA - Legrest Support Assembly, Adult, Chrome - 1 1
Right
23 H 1031484 Legrest Support Assembly, Adult, Chrome - Left 1 1
I See Chart Pivot Slide Tube with Aluminum Footplate 1 1




Legrest Support Assembly
92 - (12', 14", 16" Wide Chairs)

Calf Pads are not included with support assembly. Please refer to "Front Riggings Index and Calf Pads"
category.

NOTE: A - Due to product improvement - items 6, 8, 11, and 12 are NLA for chairs built before 6/94. Ratchet Bar Kit (item 4) must be
ordered for those chairs.

- After 5/94, the snap ring replaced the roll pin to attach the ratcher handle to the ratchet.

- After 5/94

- Before 6/94

- Includes items 5-13

F - 12" Wide Chairs

G - 14" Wide Chairs

H - 16" Wide Chairs

moOw

| - Not Shown
Pivot Slide Tube with Aluminum Footplate
Chair Width Standard 9-1/2" 2" Longer 11-1/2" 4" Longer 13-1/2"
12 1007280-NLA N/A N/A

See Note(s) A

1007281-NLA
See Note(s) B

N/A N/A

14" 1007271-NLA N/A N/A
See Note(s) A

1007272-NLA

N/A N/A
See Note(s) B
16" 1017237-NLA 1086525-NLA 1086526-NLA
See Note(s) A See Note(s) A See Note(s) A
1017238-NLA 1086527-NLA 1086528-NLA
See Note(s) B See Note(s) B See Note(s) B

NOTE: A - Right

B - Left
The following pivot slide tubes with footplates are used with the above assembly. For more information on the pivot slide tube or footplates,
see page titled "Pivot Slide Tube with Footplate.




